
® ®

Dock Accessories

SHOREMASTER.COM

DETAIL C
SCALE 1/5

DETAIL D
SCALE 1 / 7

DETAIL E
SCALE 1 / 7

A

B

Parts List
DESCRIPTIONPART NUMBERQTYITEM

RS7 Accessory Connector Bracket100000711
Bolt Bag - QC Accessory Connector Bracket10044321-

Bolt Carriage 3/8 X 1.0100195643
Nut Flange 3/8100180244

C

Parts List
DESCRIPTIONPART NUMBERQTYITEM

RS7 Accessory Bracket100000711
Bolt Bag - Accessory Connector Bracket10044321-

T Handle .375-16 X 1.5 X 2.5102642812
Bolt Carriage 3/8 x 1.0100195643
Nut Flange 3/8100180244

D

E

RS7 Accessory Connector

Instructions
Part #: 1006708

Failure to follow instructions may 
result in personal injury and may 
invalidate the applicable warranty.

Step 1. Attach the Accessory Connector 
Bracket to the Accessory Connector Plate. 
Secure with four 3/8 x 1 Carriage Bolts and 
four 3/8 Flange Nuts.

Note: The Accessory Connector Plate is 
welded to the accessory.

Step 2. Put top of accessory connector 
bracket into top rail of dock frame.

Step 3. Thread the 2 1/2 - 3/8 x 1 1/2 
T-Handle into the center hole on the bottom
of the Accessory Connector Bracket.

Note: The outer holes on the Accessory 
Connector Bracket are used when two 2 1/2
- 3/8 x 1 1/2 T-Handle are needed. The
extra T-Handle will be included where
required.

Pivot the top lip of the Accessory Connectory Bracket assemby 
into the Groove on the top of the dock frame - as shown.

Once the Accessory Connector Bracket assembly is in the desired
place, tighten the 2 1/2 - 3/8 x 1 1/2 T-Handle - as shown. 

Note: Be sure to avoid the access holes on the bottom of the dock
frame when tightening the T- Handle.

3

1
4

Accessory Connector Plate

Accessory Connector
Plate

3

1

4

4

1

3

2

Accessory Connector
Plate

Parts List
DESCRIPTIONPART NUMBERQTYITEM

Wdmt Boat Entrance-Exit Assist Handle102644511
Hardware Box10264471-

Cap Blue #14 - 2.0x2.0x2.0100181522
Wdmt QC Leg Pocket100382123
Bolt Bag10266021-

Nut Square 1/2-13 Brass100179344
Set Screw 1/2-13 x 1.5 SS 304 Cup Point100255845

Boat Entrance/Exit Assist Handle
Instructions
Part #: 1026446

2

2

1

4

3

4

Failure to follow instructions may result in 
personal injury and may invalidate the applicable 
warranty.
Step 1. Connect both leg pockets to your accessory 
connectors (sold separately) using the four carriage 
bolts and flange nuts included with your accessory 
connector.

Note: Two accessory connectors are required.

Step 2. Slide the leg pockets over the legs of the Wdmt 
Boat Entrance/Exit Assist Handle positioned as shown.

Step 3. Insert two 1/2 square nuts into the nut channel 
of each leg pocket and thread one 1/2 x 1-1/2 set screw 
into each square nut just enough to not fall out.

Step 4. Connect the assembly to the dock using the 
connect system. Adjust to desired height and tighten the 
1/2 x 1-1/2 set screws. Place blue caps onto ends of the 
handle as shown.

Dock Type  QC Accessory Connector
 Part Number

RS4 Dock  1006706
RS7 Dock  1006708
TS9  Dock  1006730
Poly Dock 1006608

5


